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o FUIT 1T F 1% 5 F97-9 7 AT T 16 T FHT 15 8|

Please make sure that the printed pages in this
question paper are 16 in number and it contains
15 questions.

o 797-9F H qIle7 &Y &1 SR {7 7T Fig T7=R% 79T @ & 5
T-GITel & JET-9% T [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

° FYIT 97 B T [TGT & B T T8, F97 & HHI% G797
ferg|
Before beginning to answer a question, its Serial
Number must be written.
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o IT-gfaar & &= 7 @il gw1/q+ 7 8Ig
Don’t leave blank page/ pages in your answer-book.

o TH-JfdEl & ofaked #3 o= Sfe TE [l o
STHTEATIAR & ferd oI forar I 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o AT 19T T Fo FIT-GF YT 3G9 feid|

Candidates must write their Roll Number on the
question paper.

o I 9l F TR &4 & §d J€ G &% o & ge7-77 gof
7 7& & qitem & ST 39 T & FE 4t qar @Ew
TET fFAT T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T : (i) TH GIT 8T FAA 81 A J97 & &b TG GHT
gIg 77 81

(i) F9T Q@I 1 & 6 % qgdlcqs 997 8| ITH U
AET I GAH 3191 FR-gikaar 4 for@m &l

(iii) 97 T 13, 14 T 15 7 A=IRF 5 I &/
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Note : (i) All questions are to be attempted.
Marks of each question are indicated
against it.

(i) Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to
select one appropriate answer and write
the same in their answer-book.

(iii) Internal choice is available in Question
Nos. 13, 14 and 15.

1. -2 @A § 980 - o A & S 1
(37) AT ST TP & 2N &

) A QT i & Bl §

(/) 2T GO @ ST S & Bl &

(3) SUUeh H § HE Tl

€

Income and Expenditure account records
transactions of :

(a) Revenue nature only
(b) Capital nature only
(c) Both capital and revenue nature

(d) None of the above

2908/ (Set : A) P.T.O.
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e : [FF7 AT & SR 9% §97 G&T 2 T 3 & e I
gy
&, T 0T & TH F¥ § GEER 8| WERR 649 & AI4R,
& T B Y& AT B 4% SHIIH I & Hl ATUHR &

ST HHAT T & 918 AT BH T FHE ge T g8
& A 37,800 ¥ oI

From the following particulars, select the correct
answers of Question Nos. 2 and 3 :

A, B and C are partners in a firm. According to
deed, A and B are entitled to get a commission of
4% (each) on net profit after charging such
commissions. Net profit of the firm was ¥ 37,800
before adjustment of commission.

2. ‘' TUT T P HHIGH Bl RN FHAA: BT : 1
(31) 1512; 1512
(@) 1512; 1400
(@) 1400; 1400
(3) Sud® F @ PE &
The amount of commission of 'A" and 'B' will be :
(@ 1512; 1512
(b) 1512; 1400
(c) 1400; 1400
(d) None of the above
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3. O, T AW AT b € H YT B 1
(31) 9% 2 12,600 (@) IUHT 11,666.66
(®) 9@® 2 11,000 (3) SUgHH & P T
‘A’, ‘B’ and ‘C’ will get as a profit :
(@ 12,600 each (b) % 11,666.66 each
(¢ % 11,000 each (d) None of the above

4. wfd® g @1 ATH B FH died 8T UH BH H FIEHER B
I T 7 997 &I HAM: 1/59 1/6 @4 § BE H
foTT WTEER S| ST 41 g SrgaTa BN o
(&) 19:19:12:10 (@) 8:7:5:6
@) 19:12:19:10 (%) SugHH ¥ & T
Malik and Gupta are partners in a firm sharing
profits & losses equally. They admit Singh and
Bansal as new partners for 1/5th and 1/6th
shares in profits respectively. The new profit
sharing ratio will be :

(@ 19:19:12:10 b) 8:7:5:6
() 19:12:19:10 (d) None of the above

ﬁ?:?ggﬁﬂ@f%anwwgwa'@rs 76 % 7& I
‘TH TN AR | A BH & FHOA B 0T o] b
T 9
WMER 90,000 %, d% HW 40,000 T; Gur
TET 30,000 ¥; U9 918 35,000 3; B & it 9
99 8T 1,75,000 |
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From the following particulars, select the correct
answers of Question Nos. 5 and 6 :

X' and 'Y' have decided to dissolve their firm.
The liabilities were :

Creditors T 90,000; Bank Loan ¥ 40,000 and
Capitals : X ¥ 30,000 and Y X 35,000. The assets
were realized of ¥ 1,75,000.

5. BH & gfrEl & J&H qod 41 : 1
(31) %1,75,000 (@) %1,95,000
(®) 2 2,15,000 (3) SUghH & P T
The book value of the firm's assets was :
() % 1,75,000 (b) % 1,95,000
() % 2,15,000 (d) None of the above

6. JUh AR & (o6, Il W &1 ATA/E0 ST 1
(31) % 10,000 T (@) % 10,000 &1
(®) % 15,000 @Y (8) Sudh d q &g T

The share in profit/loss on realization account of
each partner will be :

(@) T 10,000 profit (b) ¥ 10,000 loss
(c) ¥ 15,000 profit (d) None of the above

2908/ (Set : A)
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7. SATHGR! 8T & ST~q9 @t # ‘I’ & T T ol {59
YR fHar JraT & 7 Tw | 4

How is subscription calculated & treated in
Income & expenditure account and Balance
Sheet of a not-for-profit organization ?

8. WU 9 [T o1 T &I &l A9 2 @ 1 U § o
gl 01 T 2006 &I AT FH F ThST & 1710 (T8
W) @I AFIER a910 & 8fR 38 &7 § &7 25,000 T A5
o TR &4 8| 729 T famer arot wrfiery gdad & w@d
g O THT & TR & @I H HAT o T I HA:
3:2 & AU H T84 HUI| 31 fRF=R, 2006 & BH &
9 1,20,000 T 97| 39& forg @ 9 &ri+ i @
TR i 4

Mahesh and Dinesh are partners sharing profits
and losses in the ratioof 2 : 1. On 01 Jan. 2006
they agreed to admit Rakesh for 1/10th share in
profit as a partner with a minimum guarantee of
% 25,000 profit per year. Any deficiency arising
out on that account shall be met by Mahesh and
Dinesh in the ratio of 3 : 2. The profits for the
year ended on 31lst December, 2006 was
¥ 1,20,000. Prepare Profit and Loss
Appropriation A/c.

9. ‘GEIERI gueEiar foiad § 21 Inful’ 59 HT & e
o] 4

‘Partnership agreement must be in writing.’
Discuss the statement.

2908/ (Set : A) P.T.O.

Downloaded from cclchatper.com



(8) 2908/ (Set : A)
10. U% 90 GEER & 997 W S & @l (69 J6R &
T & ? ol aifeg| 4

Explain the accounting treatment of goodwill at
the time of admission of new partner in a firm.

11. Gch Sigd ST Ol W U U Siftmm @ dEie
FIER HY [HAT AT &, T T ST Gl HHT 1T € 7 4

What is accounting treatment of Premium. on
Joint Life Policy when it is treated as revenue
expenditure ?

12. B & GO R, G GERET (T & BEaN) T M@
TR @l Tl T H SRR B b q16, T -3t
& ST Sidfer a4 enft ? 4
() ¥ 22,500 % S RIT BT T YA f&AT|
(id) %warr?'crr{ S 7 % 24,000 T & &4 T 15,000 H
|

(iii) Tdh CIRIEX| [EESER] J&id oI [ 91, &l T 5000
4 |

iv) R 1800WWWWHI§GIW%‘§‘HH
EzU

What journal entries would be passed for the

following transactions on the dissolution of a

firm, after various assets (other than cash) and

third parties liabilities have been transferred to

Realization Account ?

(i) Bank loan ¥ 22,500 has been paid.

(i) Stock worth ¥ 24,000 is taken over by
partner Lalu for ¥ 15,000.

2908/ (Set : A)
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(iii)

(iv)

13. (a) ¥ 2006 F RV U T<T 39 UHR & :
4 4
2005 3,000
2006 96,000
2007 2,000 1,01,000
4
31 fAE=R, 2005 #I 9T T & A 5,000
31 fA&=R, 2006 @I YT T & A 12,000
2005 ¥ 2006 & 0T W I I H A 5,000
2006 & MF-F @Id 7 [T@TE AW Tl = bl A1y
&I ITUET AT | 5
Actual amount of subscription received
during the year 2006 was as follows :
4 ?’
2005 3,000
2006 96,000
2007 2,000 1,01,000
2908/ (Set : A) P.T.O.
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A typewriter completely written off in the
books of accounts was sold for ¥ 5000.

Expenses on dissolution amount to ¥ 1800,
were paid by partner Kalu.
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Subscription outstanding on

¢

31st Dec. 2005 5,000

Subscription outstanding on

31st Dec. 2006 12,000

Advance Subscription received in

2005 for 2006 5,000

Calculate the amount of subscription which
will be shown in Income & Expenditure

A/C.
(b) = FEAIe § 2005-06 & IRA IUAT & T
E_CH'if %! AR I T aﬁﬁﬂ'{ : 5
faaor UEUKS
TATE & & [T rar 3,70,000
T8 HY & foT o+ eR ¢
01-04-2005 &l 25,000
31-03-2006 H 17.000
AR B ©ih
01-04-2005 &I 62,000
31-03-2006 &I 54,000
01-04-2005 &I 11,500
31-03-2006 & 18,200
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From the following information, calculate

the cost of medicines consumed during the
year 2005-06 :

Particular Amount ¢
Payment made for purchase of

medicines 3,70,000

Creditors for medicines :

On 01-04-2005 25,000

On 31-03-2006 17,000
Stock of medicines :

On 01-04-2005 62,000

On 31-03-2006 54,000
Advance paid to supplier of
medicines :

On 01-04-2005 11,500

On 31-03-2006 18,200

YT
OR

Y- WA d FIST A @1 B FHend gy, & §

IR e FHifT |

10

Define and distinguish between Income and
Expenditure Account and Receipt and Payment

Account.
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14, = gO9-09 A SR T & &, A 3 : 2 H AIIA § A9

frsmfora & &

U] i & | gRawrar UEikd
SEEARS 20,000 | B&ITA {8 3,000
gl EREL 12,000

& - 30,000 Wi 15,000
g - 20,000 | 50,000 | B 10,000
|43 9 7=l | 30,000

70,000 70,000

=g [ty &1, e ol O F @l eier) § gagr o 1@

() FAHH 1/6 97 & T 15,000 T & o1 3R
5,000 % @AI(q & T Jifeew & &7 § @ |

(i) TS B A 10% § BF ST & 761 G4 T ALY
H I 10% § T &l BHAER F I 9,000 R
ST 4T |

(iii) fafaer ITERT W 5% wfever ol & forg graem F=7=1
21 % 1,000 1 fafwarT o geaet & €1 fmamar o
2, B AT I § @ 2|

TH & J&IDH § YT & [T Saedd o giafear
HIY T JaOT-91 A7 qA1E0| 10
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The following is the Balance Sheet of A and B
who’s share profit and losses in the ratio of 3 : 2 :

Liabilities | Amount Assets Amount
i 4
Creditors 20,000 | Cash in Hand 3,000
Capital : Debtors 12,000
A - 30,000 Stock 15,000
B - 20,000 | 50,000 | Furniture 10,000
Plant &
Machinery | 30,000
70,000 70,000

On this date, C is admitted as a partner on the
following conditions :

(i) C will bring X 15,000 for capital and ¥ 5,000
for premium for goodwill in cash for 1/6th
share in profits.

(i) Value of stock is decreased by 10% and
value of machinery is increased by 10%.
Furniture was valued at ¥ 9,000.

(iii) Provide a provision for doubtful debts @ 5%
on debtors. There is an investment of
% 1,000 which was not recorded in balance
sheet, now it will be shown in the firm's
balance sheet.

Pass the necessary journal entries for the above
in the books of the firm and prepare Balance
Sheet of firm.

2908/ (Set : A) P.T.O.
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YT

OR
e § ST F4 WA & 7 W b qedich ol fafe
ATt &7 ISTEXT & TETHAT § U g | 10

What do you mean by goodwill ? Explain various
methods of valuation of goodwill with the help of
suitable examples.

15. Hifed, RS T Ged & gad-0F A f&@r @ & S are-

BT B ST it ST # fasmion R &

e | wfor & | aRawfaar afr #
TER 21,000 | 99 1,00,000
geg 20,000 | AM=RT 50,000
gl - i 18,000

Hqifgd | 80,000 | ITER 20,000

AR | 40,000 | HEHET-gA k0T
|Ied | 40,000 | & 9EE _1,000 | 19,000

d% § s 14,000
2,01,000 2,01,000
=g fafer & TR Qariga & 47 q91 B § 6 Rw o
A = & STEr e S

() 9T & oA % 1,20,000 {1 T q91 AM @B
T 20% & & fdar |
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(i) ®H @ TG B GAiBT 72,000 I fHAT W
Qarfgd WEER & e § RE, a9 9EEn
PEikelnR-RUEIRIERRERIE A

JTcd R AT, WEERT & ol T o7 I & ganagi
& 918 go - ST 10

The Balance Sheet of Mohit, Neeraj and Sohan
are given as follows who shares profit and losses
of the firm in the ratio of their capitals :

Liabilities | Amount Assets Amount
4 4
Creditors 21,000 | Building 1,00,000
Reserve 20,000 | Machinery 50,000
Capital : Stock 18,000

Mohit 80,000 | Debtors 20,000

Neeraj 40,000 | Less : Provision
Sohan 40,000 | for doubtful

debts 1,000 19,000
Cash at Bank 14,000
2,01,000 2,01,000

On that date Neeraj retires and his share in the
firm was paid as under :

(i) Building was revalued at ¥ 1,20,000 and
value of machinery was decreased by 20%.

2908/ (Set : A) P.T.O.
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(ii) The valuation of firm's goodwill was
372,000 and retiring partners share in
goodwill be adjusted in remaining partners'
capital accounts.

Prepare Revaluation A/c, Capital accounts and
Balance Sheet after Neeraj retirement.

AT
OR

=T @ e S

Explain the following :

(i) g @l 5

Revaluation Account

(ii) TROMY gAY ST 5

Memorandom Revaluation Account

2908/ (Set : A)
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o YT T I o & 7 J97-7 7 PRI 7T 16 TIT T
30(15+15) &/
Please make sure that the printed pages in this

question paper are 16 in number and it contains
30(15+15) questions.

o T97-UF F 3IfeT &Y &1 SR [T TF FiE T%=w 797 A H &7
T-GITal & JET-9% 7 [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o U F97 FH T [T@T & A G G&et, F97 F BHIE a9
ferg|
Before beginning to answer a question, its Serial
Number must be written.
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o FR-YikTel & dia 7 @rell G1/9+ 7 BIg]

Don’t leave blank page/ pages in your answer-book.
o TW-JRaH & Sfaked FE FF dic TE Al I
STaRIFATAR &1 fer off for@r Gov 7 #E
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o G OIgT AT o F9T-Y G a9 [ord |
Candidates must write their Roll Number on the
question paper.

YT FTI HT TR &4 7 g9 I8 GlAfoerd &% o [ q97-97 qof
7 & & qiter & JUNIT 30 T ] Fig o qr|ar @En
7T fawar ara|
Before answering the questions, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

AT (397 -

(i) T& 997-97 & @uel & farmifora & -
GUE - & : FHHHI @ TT AT [FaRen &7 %o
que - T : FEGHIFT aaiHT

(i) GRIETET ST 56T § FIE OF @UE G |

(iii) THT 997 &T F Bl IAB 997 & 3% IqP AHA
91T 77 8|

(iv) T97 G@T 1 & 6 7% qgawloqd 797 8| fomd agt
IR G ST FR-Gfeaer 7 forae 81

(v) 597 @13, 14 715 7 ST0R% ge 977 &/

3008/ (Set : A)
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General Instructions :

(9

(i)
(i)

()

(v)

This question paper is divided into two

Sections :

Section - A : Company  Accounts and
Financial Statement Analysis

Section — B : Computerised Accounting

Candidates have to select any one Section

of their choice.

All questions are to be attempted. Marks
for each question are indicated against it.

Question No. 1 to 6 are multiple choice
questions. Candidates are required to select
one appropriate answer and uwrite the
same in their answer-book.

Internal choice is available in Question No.
13, 14 and 15.
gug - A
SECTION - A
(=t o T fai ot s frecor)

(Company Accounts and Financial Statement Analysis)

1. ‘SRS Y ®IY fafraeT &t fael ) gu 19 @I s&iaid

fearT SITaT ® ¢ 1
(A) TIH-BI @I |
(B) HMI §99 @I |
(C) Yol &= @ |
(D) Tge fobelt # et
3008/ (Set : A) P.T.O.
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Profit on sale of 'Debenture Redemption Fund
Investment' is transferred to :
(A) Profit and Loss A/c
(B) General Reserve A/c
(C) Capital Reserve A/c
(D) None of the above

2% e N AT W AT S S SRR
: 1
(A) TIH-BIN @I |
(B) RUTAS Qe SN [AENT @1 §
(C) UGS e I H
(D) T fobelt & &t
Interest received on 'Debenture Redemption
Fund Investment is transferred to :
(A) Profit and Loss A/c
(B) Debenture Redemption Reserve Investment
A/c
(C) Debenture Redemption Fund A/c
(D) None of the above
3. M= # § a-a1 faciy faeRw us ffeaq sm@fy & e
HaTae & @ & R § qRacds & gde aXar & ? 1
(A) fEior @
(B) WTH-8I @rar
(C) amfde frgr
(D) ST Pl Tl

3008/ (Set : A)
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From the followings which financial statement
shows the change in the owner's interest by
operation of business for a period of time :

(A) Manufacturing Account
(B) Profit and Loss A/c

(C) Balance Sheet

(D) None of the above

4. SFUGHT & 9NEH W AT wwer & oonide g 7 e

§iSie & Sf=Ta (e ST & 7 1
() TR-a7e FHferEr (B) T FHerEl
(C) Hag Td e (D) Iuged fdr 7 &l

In the Balance sheet of a company 'Premium on
redemption of debentures' is shown under the
head :

(A) Non-Current Assets (B) Current Assets

(C) Reserve and Surplus (D) None of the above

5. rrﬁrar@mﬁéw@ﬁﬁrfaﬁaﬁﬁﬁwmaﬂﬁﬁrﬁgq

{g JaTe &l T B & :

(A) o faaret |
(B) fa<ita= fharet &
(C) uRaTe fehareli &
Sugad ¥ fodl @ T
3008/ (Set : A) P.T.O.

Downloaded from cclchatper.com



(6) 3008/ (Set : A)
Cash payments made to suppliers for goods and
services are classified as cash flows from :
(A) Investing activities
(B) Financing activities
(C) Operating activities
(D) None of the above

6. ATIRE Rl & Jed § FHHT & TR &l @ - 1
(A) dfzare (B) SR yaT8
(C) s FaTE &t (D) Sudad § #IE &
Decrease in the value of trade creditors results
in :
(A) Cash out flows (B) Cash in flows
(C) No cash flow (D) None of the above

7. Y ffice 9 &g T & 100 T ST (10 T 9 39)
o 2 T 9id S JYF =T & 991 3 T Gfd e erfww
AT 7 & R I &R Ul g6 § 75 &9 3.50 g
YT &l B T THIET T &l G (AT 3 R
T B GRIDI H AT & S g GANTAT § g
AI9T e FidTear Sy 4
X Ltd. forfeited 100 equity shares of ¥ 10 each
held by Ruldu Ram for non-payment of First call
of ¥ 2 per share and final call of ¥ 3 per share.
Out of these, 75 shares were reissued to Ghasita
Ram at a discount of ¥ 3.50 per share.

Give journal entries for forfeiture and reissue of
shares in the books of the company.

3008/ (Set : A)
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8. 3fST TUT HUMUH H SR WE HIToT| 4

Distinguish between shares and debentures.

9. fmfafad ot siasas Tsrrar gfafedr S -

(A) TH T 8% FUUF 1,50,000 T I Aled ZRI
GIEIR SRS AT 2

(B) T &HHT 4 10,000, 6% FUGH 100 T a1 5%
Ferdr X il fer e des 59 fiffem
BT 2 2

Give journal entries for :

(A) A company redeemed ¥ 1,50,000 8%
debentures out of profits by drawing a
lottery.

(B) A company issued 10,000, 6% debentures
of ¥ 100 each at 5% discount and
redeemable at 5% premium.

10. Ta<iia fqawel & SHmsti &1 3 Hig| 4

Explain the limitations of Financial Statements.

11. UH &A1 & 31 A6, 2012 & M=laiaq & gurdee

X & 1€ 7,50,000 T 19 4T 4
4
Wi 9T 7 W BrE 65,000
IR & Mfoied e 17,500
e S § ATH g3 6,500
HHIS AT AT 12,000
3008/ (Set : A) P.T.O.
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gy 31 A 31 A1
2011 2012
4 4
IER 1,12,500 86,750
% 9w 77,600 55,250
PEENICILI] 6,500 7,200

SUgA et § g et 4 Ahs gdre @l A
EAELY

A Company had a profit of ¥ 7,50,000 for the
year ended on 31st March 2012 after
considering the following :

7

Depreciation on Plant and Machinery 65,000

Preliminary Expenses written off 17,500

Profit on sale of furniture 6,500

Commission received 12,000
Balances as on 31 March 31 March

2011 2012

4 4

Debtors 1,12,500 86,750
Bank Balance 77,600 55,250
Prepaid Insurance 6,500 7,200

Calculate cash flow from operating activities
from the above information.

3008/ (Set : A)
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12. UHE UATE 9ed qEie AqTH & aUEX el ol &I &
EEERIEIIRIY 4
'Cash flows are always equal to the accounting
profits.' Discuss the statement.

13. 30,00,000 % & aTfeghd ol a1l Teb ST A 2,00,000
3iST 10 % 97 8f9r, 1 ¥ & difFaH | IR fhul 37 @ 3
JHR 4 — de W 3 g e R 4 T (N gfeq)
TAT G99 T Sf~a¥ I | 4 2|
AT STTeE AT TT 3,60,000 39 & foIQ sfees gred
RUECIECEREIS R CATRERI
1,50,000 391 & AT &l 1,50,000 34T

25,000 ST & SATEH H g
1,85,000 3iSTi & G B 50,000 39T
e WX THal offdre fer SreesT 9 IraeT W Furied &%
& T8 | | g fafereq el 10
AT ® ASATHET TATaT S|

A company with an authorised capital of
¥ 30,00,000 invited applications for 2,00,000
shares of ¥ 10 each at a premium of ¥ 1 per
share. The amount was payable as follows : ¥ 3
on application; ¥ 4 (including premium) on
allotment and ¥ 4 on first and final call.

There was over-subscription and applications
were received for 3,60,000 shares. Allotment of
shares was made as under :

To applicants of 1,50,000 shares 1,50,000 shares

To applicants of 25,000 shares Nil
To applicants of 1,85,000 shares 50,000 shares
3008/ (Set : A) P.T.O.
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Excess money paid on application was adjusted
against sums due on allotment and call. All
money due were received.

Pass necessary journal entries.

3T

OR
() sfrsfa it @ i &1 g 6 gt & g &
fora fopar o Gear & 7 5

For what purposes, the amount of
securities premium can be utilised ?

(B) Sfel & Fwenr | i wd a1 few gu sfr @
FHerr R g: e 7 o fafaa| 5

Distinguish between issue of shares at
discount and re-issue of forfeited shares at
a discount.

14. U Qe ST &7 KUY e &Y 5,00,000 T & S
5,90,000 % & 3fdd Jo4 &l 5% Ffgfa § AT 2
FIAT B 98 AT 60,000 T Fl 5,00,000 T F FOT! H
e & & g Ffayfedl 83% Y& H &= a1 T T«
ST T Qe &Y (3T 47|

IR § TEfgd HAT & JEH § TS
ST fa et S| 10

A company had a Debenture Redemption Fund
of ¥ 5,00,000 represented by the investment
amounting to ¥ 5,90,000 in 5% securities. The
company has bank balance of ¥ 60,000.

3008/ (Set : A)
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The securities was sold to redeem the
debentures of ¥ 5,00,000 @ 83% net and the
proceeds were banked and debentures were
redeemed.

Record the above transactions in company's
ledger.

YT
OR

FOE & M99 & [T I UH FOT9S NG ST G740
ST &, T B B gl § H-ar [ st ar
T & 7 10

What journal entries are passed in the books of
the company when a Debenture Redemption
Fund is created to redeem the debentures of a
company ?
15. [ faeeli | womEr Hifg - 10
(i) g arra
(i) R TEfoar aur orfvaw tefaan
(i) =Te FeforT qYT X g, e
(a) T SN ST 5 0T &
(b) Sifqw i, TRfsT® ©id § 5,000 T AT &
(c) W QI STUT (AT | 20% &
(d) T&a 90,000 2
(e) T AR 30,000 2
(f) %A AJUIT 0.75

3008/ (Set : A) P.T.O.
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From the following details, calculate :

(i) Cost of goods sold

(ii) Opening stock and closing stock

(iii) Current Assets and Liquid Assets, if
(a) Stock turnover ratio is 5 times.

(b) Closing stock is ¥ 5,000 more than
opening stock

() Gross profit ratio is 20% on sales.
(d) Sales 90,000%

() Current liabilities 30,000 X

(f) Quick Ratio is 0.75

STt

OR
ST FSCTSoT § 37T F7 Gl & 7 36 Hew! & que
Hig| 10

What do you mean by ratio analysis ? Explain
its importance.

|ug -
SECTION - B
(FelFa o)
(Computerized Accounting)
1. 'SQL ¥ 3ffum & : 1
(A) dfed @y s (B) geAf@ AT
(C) & forg swn (D) IUgH Hig Tl

3008/ (Set : A)
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'SQL' stands for :
(A) Structured Queue Language
(B) Structured Query Language
(C) Structured Quote Language
(D) None of the above

2. 1 & § -9 TeT §99 Ul SUHET § I @ ST

g7 1
(A) TUSHT-3TTHeT B (B) §TH &7 ATHeT BT
(€) Raifd gumeft (D) 37H & ®r§ &l

Which of the following data storage system is
hidden from the user ?

(A) Back-End DB (B) Front-End DB

(C) Reporting System (D) None of the above
3. 7= ¥ § o9-dt gk @rar @ entde a9 M &

forT g & S & 7 1
(A) iR B) fawmu
(C) ¥R 9Raaw (D) Sudaa @+t

Which of the following technique is required for
both Account and Financial transactions ?

(A) Codification (B) Amplification
(C) Modulation (D) All of the above
3008/ (Set : A) P.T.O.
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4, MR FINIFTHIFaT- AT IS T8 7 1
(A) I (B) Sl
) frg= (D) ®rE &

Combination of Row and Column in a spread
sheet form which of the following term ?

(A) Circle (B) Grid
(C) Triangle (D) None
5. Fe & & - @ S0 a1 g 2er Rrar % R R
ST & 7 1
(A) Ctrl+C (B) Ctrl+V
(C) Ctrl+2Z (D) SUgad H &5 Tk
Which of the following short key is used to paste
data ?
(A) Ctrl+C B) Ctrl+V
(C) Ctrl+Z (D) None of the above
6. 9 ¥ & HIF-91 UH Y ITH & ? 1
(a) Tw (B) @I
(C) ®I-aE (D) ®1E ot Tl
From the following which one is input device ?
(A) Printer (B) Plotter
(C) Keyboard (D) None
7. BRI q@iET GO Sl S d@ih Ul &
SREUEAEL 4
Compare manual accounting with computerized
accounting.

3008/ (Set : A)
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10.

11.

12.

13.

(15) 3008/ (Set : A)
ISP A b (157 SThy &I & I HIT| 4

Write down various forms of Interfaces in
computerized accounting.

. TS o939 & U a9 & FHR 9 HIRT Hl

SRR 4

Describe the types and system of vouchers for
document transactions.

TFH (Access) Pl THTT T & [T TFH (Access) %
YR T 91 I sy

Explain the Access basis and procedure to
create form using Access.

e RUE | us feuuft fofau| 4

Write a short note on Accounting Report.

wedlte & faqand fafeu| 4

Explain the various features of a spread sheet.

“GTal & GRA & [T TRl B 3HgT HAT Sf-ar
B BT P AT BT 10

"Grouping of Accounts is a pre-requisite for
meaningful codification of accounts." Explain
the statement.

T
OR
39 Back-End & [ g & fowr 9 fafaal 10

Explain various types of Databases at Back-End.

3008/ (Set : A) P.T.O.
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14.

15.

(16) 3008/ (Set : A)

SQL faftr & gearaet = @l fafyreT gisharet &1 faega
T BT 10

Describe in detail the various methods for
creating queries by SQL method.

AT
OR
THIT (Access) H RUTE f2ames a1 qaamw| 10

Explain report design in Access.

TRT (Excel) § d&sfic S99 & SR SR gfskamed &
SATEAT Sty | 10
Explain the base and procedures for creating
worksheet in Excel.

3rEr
OR
TFA (Excel) H, g o7 THMT § I &l FEET
T <R WE | 10

Differentiate between workbook and worksheet
in Excel with suitable examples.

3008/ (Set : A)
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o FUIT 1T F 1% 5 F97-9 7 AT T 16 T FHT 15 8|

Please make sure that the printed pages in this
question paper are 16 in number and it contains
15 questions.

o 797-9F H qIle7 &Y &1 SR {7 7T Fig T7=R% 79T @ & 5
T-GITel & JET-9% T [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

° FYIT 97 B T [TGT & B T T8, F97 & HHI% G797
ferg|
Before beginning to answer a question, its Serial
Number must be written.
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o IT-gfaar & &= 7 @il gw1/q+ 7 8Ig |

Don’t leave blank page/ pages in your answer-book.

o TH-JfdEl & ofaked #3 o= Sfe TE [l o
STHTEATIAR & ferd oI forar I 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o AT 19T T Fo FIT-GF YT 3G9 feid|

Candidates must write their Roll Number on the
question paper.

o I 9l F TR &4 & §d J€ G &% o & ge7-77 gof
7 7& & qitem & ST 39 T & FE 4t qar @Ew
7T fFaT AT |
Before answering the questions, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

T : (i) TH GIT 8T FAA 81 A J97 & &b TG GHT
gIg 77 81

(i) F9T Q@I 1 & 6 % qgdlcqs 997 8| ITH U
AET I GAH 3191 FR-gikaar 4 for@m &l

(iii) 97 T 13, 14 T 15 7 A=IRF 5 I &/

2908/ (Set : B)
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Note : (i) All questions are to be attempted.
Marks of each question are indicated
against it.

(ii) Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to
select one appropriate answer and write
the same in their answer-book.

(iii) Internal choice is available in Question
Nos. 13, 14 and 15.

1. TSN Gerat § Ja9r b I AT ST & - 1
(31) ST o

(3) g o

(/) ST g 4SS &
() STgH & 1% T
In case of not-for-profit organizations, entrance
fee should be treated as :
(a) Revenue income
(b) Capital income
(c) Both Revenue as well as capital income
(d) None of the above

Fre : [AEIIGT AR & g97 G247 2 9 3 & T& IO H TI7
BT -
TH, ‘T q1 O U@ a9 § GEER &| 9EERl dod
& IYER, TH T T (T9F) & I & qTH & 5%
FHIT I A H AUBR & ST A6 HHAH T &
QT STTAT| I8 &1 ATH 32,802 T 41|

2908/ (Set : B) P.T.O.
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From the following particulars, select the correct
answers of Question Nos. 2 and 3 :

‘M’, N’ and ‘O’ are partners in a business.
According to partnership deed, ‘M’ and ‘N’ are
entitled to get commission of 5% (each) on net
profit after charging such commissions. Net
profit of the year was I 32,802 before
adjustment of any commission.

2. ‘TH T T & HHIAT Sl AL FHA: BT - 1
(31) 1620; 1620
(@) 1620; 1562
(@) 1562; 1620
(3) Swd® F @ B &

The amount of commissions of ‘M’ and ‘N’ will be
respectively :

(a) 1620; 1620
(b) 1620; 1562
() 1562; 1620
(d) None of the above
3. o TR SN G4 QEER & Ha a9 § § HAT: IS
BT 1
(31) 9 & % 10,934
(@) %11,454.66; 11,454.66; 9,892.66
() %9,892.66; 11,454.66; 11,454.66

(%) Sud d #IE T

2908/ (Set : B)
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The total amount that each partner receive out
of total profit will be, respectively :
(@ 10,934 each
(b) % 11,454.66; 11,454.66; 9,892.66
(c) ¥9,892.66; 11,454.66; 11,454.66
(d) None of the above

4. SO TE YT AH B2 ;1 D FPA F dled §Y Th B
¥ 9EER & I8 Al 7 e @ HAT: 1/6F 1/8 ATl
¥ e % forg aeEerl § e fosan| Seer T ard-ar

STUT BT 1
(&) 34:17:12:9 (@) 30:15:12:9
(@) 4:3:2:1 (3) Sugw F & A T

Bansal and Gupta are partners in a firm,
sharing profits and losses in the ratio of 2 : 1.
They admit Malik and Singh as new partners for
1/6tr and 1/8t shares in profits respectively.
Their new profit sharing ratio will be :

(@ 34:17:12:9 (b) 30:15:12:9
() 4:3:2:1 (d) None of the above

qe : 7 @R & S9N W §97T GET 5 T 6 T @& v
gy -
TH T TT 7 S BH & GUO $T 0 o @m| & &
HECER

@FER 1,25,000 3; AT TH & KT 45,000 ;5 Lol
TH 65,000 ¥; T4 TF 50,000 3; BH & gl
¥ 2,15,000 91 T

2908/ (Set : B) P.T.O.
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From the following particulars, select the correct
answers of Question Nos. 5 and 6 :

‘M’ and ‘N’ have decided to dissolve their firm.
The liabilities of the firm were :

Creditors ¥ 1,25,000; Mrs. M Loan ¥ 45,000
Capitals : M ¥ 65,000 and N % 50,000.
The assets of the firm were realized for

% 2,15,000.

5. BH & TREMRIET &1 T ed o : 1
(31) %2,55,000 (@) z2,85,000
(®) % 2,15,000 (3) SUghHH & P T
The book value of the firm's assets were :
(@ ¥2,55,000 (b) ¥ 2,85,000
() ¥2,15,000 (d) None of the above

6. IS TIEER &I GGl @ & qr4/er o e g : - 1
(&) % 30,000 @TH (¥) z 35,000 &1
(&) 725,000 @Y (8) Sudh d q &g T

The share of each partner in profit/loss on
Realization Account will be :

(@) ¥ 30,000 profit (b) ¥ 35,000 loss
(c) ¥ 25,000 profit (d) None of the above

2908/ (Set : B)
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7. Udh ATHGN ST &t faQrearedi & gfera faeror fafau| 4

Explain in brief, the characteristics of a Not-for-
profit organization.

8. Wedl 7 fAY eH-2f &l fA9e 5 : 3 & U § &
TT 9REER gl 01 J9Mad 2006 & I THT & 1/8
(3fred AMT) & 0T WEER S9ET YT IW BH G OBA
24,000 % W9 & TR & &| T FOT ARiE geaa &
@ 2| g THA B TR & @ Bl A 3 T I
HEM: 3 : 5 & AU H a8 w1l 31 =R, 2006 &I
TH & AN 1,84,000 T IT| AT AH-B1 fafEm @rar

IR &It | 4

Mahesh and Dinesh are partners sharing profits

and losses in the ratio of 5 : 3. They agreed to
admit Rakesh as a partner for 1/8t share in
profits with a minimum guarantee of I 24,000
profit in a year. Any deficiency arising out on
that account shall be met by Mahesh and
Dinesh in the ratio of 3 : 5. On 31 December,
2006 the profit of the firm was ¥ 1,84,000.
Prepare Profit and Loss Appropriation Account.

9. HEEN faw@ &I gRwIfS S| 4
Define partnership deed.

2908/ (Set : B) P.T.O.
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10. IOH FEERT & A9-B1 (I § qRad & &9m §
@fd ¥ gRiyd d@ied FaeR & Ifd I d
HEIAT § qU &I 4
Mention the accounting treatment of goodwill in

case of change in profit sharing ratio of existing
partners with the help of a suitable example.

11. T AT 77 & STIUTT H = W€ Hify| 4
Differentiate between sacrifice ratio and gaining
ratio.

12. ®H & FHOE W G Goferdl T 89 Te@R & el &l
Igll @A H BWIART & & a5, = @530 @l

WWW 4
(i) HERER TH 9 #iwd te & 215,000 RO b
CURIECIRIRE AR

(i) %ri?r{ q1g 3 T 20,000 F fAfs=T T 7 16,000 H &
|

(i) 5,500 & I AFHARET THRT TH AR 7 4T
e R SHR & ol

(iv) % 18,000 &I TGl WIq &I &N FEHR TF a0
a8 § 3 : 2 | e & T3

What journal entries would be passed for the

following transactions on the dissolution of a

firm, after various assets (other than cash) and

outsiders liabilities have been transferred to

Realization Account ?

(i) Partner Mr. X has taken over the Mrs. X
Loan of ¥ 15,000.

2908/ (Set : B)
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(ii) Investment of ¥ 20,000 was taken over by
partner Mr. Y for ¥ 16,000.

(iii Unrecorded assets of ¥ 5,500 was accepted
by a creditors on that value.

(iv) Loss on realization of 18,000 ¥ was to be
beared by X and Y in the ratio of 3 : 2.

13. (a) a¥2010-11 % IR FAG P AT U T HI AR 39
OB 4
4
2009-10 10,000
2010-11 90,000
2011-12 8.000

ST AT
4
2009-10 15,000
2010-11 ¥ 20,000
T 2009-10 & R SR AT Tw<T :
4
2010-11 & fa@ 13,000
2011-12 & faQ 4,000
FAd & a¥ 2010-11 & S99 91T SF-T @I 79T
Jo-0o § IWEd wel & 97U 5
2908/ (Set : B) P.T.O.
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Subscription received in the year 2010-11
by a club was as follow :

¢
2009-10 10,000
2010-11 90,000
2011-12 8,000
Subscription outstanding :

4
in 2009-10 15,000
in 2010-11 20,000

Subscription received in advance in
2009-10 :

4
for 2010-11 13,000
for 2011-12 4,000

Show the above items in Income &
Expenditure Account and Balance Sheet of
the Club for the year ended on 31st March,
2011 (i.e. 2010-11).

31 4, 2011 &I U a9 & [T T Tl 3T~
&g @I ¥ [REri I gt R & T B 5

01 3T 2010 & 7
I AT ©ieh 600
WL & [T o e 400
R & forg arfim 9gmas 40

31 9, 2011 &l 7
I #T ©ih 100
W & [T A e 260
Rl & forg arfiw e 60

2908/ (Set : B)
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¥ 2010-11 & IRH VI & fow fmar mn
AN 2 2,160.

Calculate what amount will be posted to
Income & Expenditure Account for the year
ending 31st March, 2011 :

On 01 April, 2010 ¢
Stock of stationery 600
Creditors for stationery 400
Advance paid for stationery 40

On 31 March, 2011 4
Stock of stationery 100
Creditors for stationery 260
Advance paid for stationery 60

Amount paid for stationery during the year

2010-11.

AT
OR

few Mo qifeq-ograr @ qor erfaRes gamen § e
AEieT 99 & GRE g Al Jod-0d B GER
S ? FHEATET| 10

How will you prepare the Balance Sheet both at
the beginning and at the end of the accounting
period from a given Receipts and Payments
Account and additional informations ? Explain.

2908/ (Set : B) P.T.O.
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14, 19 f3F7 77 JO-0 S50, T AR AqT H & FA HA:
6/1%, 5/14 4 3/14 & SUId H A9-81 & e
A &

grfaeT i ¢ | aRawforar T

AER 9,000 | 9# 9 Wad 24,000
3 faws 3,000 | e 3,500
ol ®l® 14,000
318U - 19,000 ISR 12,600
99 - 16,000 e 900

ga9 - 8,000 | 43,000

55,000 55,000

%raﬁ;asaﬁrwwfrus AT & forg e ot ) &F § gaqr
A '

(i) 9 T 4,200 BAT &R T 7,000 G5t & &7 § T
AT

(i) THTER A 12% Hi a7 ©ieb § 10% i HHT ST |
(iti) 9 T 9o & GeF T 9,000 F TI & TAT IAGRA

T 5% i & H Hi R0 & (¢ graem S|
Suded FIERl & A gfdfear Hifg aur dud &
YT & STE BH &l ger-oe T a3y 10

2908/ (Set : B)
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The following is the Balance Sheet of Arun,
Bablu and Chetan who shares profits and losses
in the ratio of 6 : 5 : 3 respectively :

Liabilities Amou Assets Amoun
nt? tv

Creditors 9,000 | Land &
Building 24,000
Bills Payable 3,000 | Furniture 3,500
Capital : Stock 14,000
Arun - 19,000 Debtors 12,600
Bablu - 16,000 Cash 900

Chetan — 8,000 | 43,000

55,000 55,000

They admit Deepak for 1/8th share in profits on
the following conditions :

(i) Deepak brings ¥ 4,200 for premium for
goodwill and X 7,000 as capital in cash.

(ii) Depreciate furniture by 12% and stock by
10%.

(iii) Increase the value of Land & Building by
¥ 9,000 and make a provision for doubtful
debts on debtors by 5%.

Pass the necessary journal entries for the above
and the prepare the balance sheet after Deepak
admission.

2908/ (Set : B) P.T.O.
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o
OR

qrEerd ¥ ofg e Tomeli § %Y HaeR U1 7 oq I

Pl ISTEXTT &l HEAT § AT HIVT 10

(i) I AEERI & -1 ST § aRac |
(i) T HERER & 949 & G99 Ghad a1 9 =i

How will you deal with following cases in
partnership ? Take imaginary figures to
illustrate your answer :

(i) Change in the profit sharing ratio among
existing partners.

(i) Accumulated profits and losses at the time
of admission of a partner.

15. = faar mr gaa-oF ooy, guor ofR @iy & & S
STT-BTT & 5 : 3 : 2 % AU H (Ao axdl &

UG i ¢ |gRawtoar T &

et - a0 T e 7,80,000
3y - 7,20,000 97 g 73 | 4,65,000
I - 4,15,000 e 77,000
DI - 3,45,000(14,80,000 | CT® 1,85,000
=T G 1,80,000(8&® I&8 | 1,21,000
AR 1,40,000|39ER 1,72,000
18,00,000 18,00,000

2908/ (Set : B)
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G IYLrh fafer &7 Qarivgd &1 @ qur e g )
HEA(d &8
SRR RICE SRR Rl
®WiH 1,72,000 T ®HeX g ™ 80,000 z; =
2,00,000 ; BT S @1 J&Ihl 7 el q9miar S|

G H FAMGRT T 40,000 T Feba A foaT QI
AT A9 37 Y ITH KT @ H SqiaRd b |

gca i ©TaT, Qo @A 9T gAied BH o0
RRICAIEIY 10
The following is the Balance Sheet of Ashish,

Suresh and Lokesh who shares profits and
losses in the ratioof 5: 3 : 2 :

Liabilities Amount Assets Amount
(4 <

Capital : Land &
Ashish - 7,20,000 Building | 7,80,000
Sure e Plarl:/}agéhinery 4,65,000
LokeSpg Sttt 14,80,000 Furniture 77,000
Stock 1,85,000
General Reserve 1,80,000|Cash in Hand 1,21,000
Creditors 1,40,000 |Debtors 1,72,000
18,00,000 18,00,000

Suresh retires on that date and following
adjustments are made :

2908/ (Set : B) P.T.O.
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Assets were revalued as under :

Stock ¥ 1,72,000; Furniture and fittings
% 80,000; Goodwill ¥ 2,00,000 which will not be
shown in the books.

On the retirement, an amount of ¥ 40,000 was
paid to Suresh and remaining amount will be

transferred to his loan account.
Prepare Revaluation Account, Partners' Capital
Accounts and Revised Balance Sheet.

AT

OR
e AT A G AR @ & AR b Fer & R
At 7 vt & 10

Explain the different methods by which the
amount due to a retire or deceased partner is
paid.

2908/ (Set : B)
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o YT T I o & 7 J97-7 7 PRI 7T 16 TIT T
30(15+15) &/
Please make sure that the printed pages in this

question paper are 16 in number and it contains
30(15+15) questions.

o T97-UF F 3IfeT &Y &1 SR [T TF FiE T%=w 797 A H &7
T-GITal & JET-9% 7 [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o U F97 FH T [T@T & A G G&et, F97 F BHIE a9
ferg|
Before beginning to answer a question, its Serial
Number must be written.
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o FR-YikTel & dia 7 @rell G1/9+ 7 BIg]

Don’t leave blank page/ pages in your answer-book.
o TW-JRaH & Sfaked FE FF dic TE Al I
STaRIFATAR &1 fer off for@r Gov 7 #E
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o G OIgT AT o F9T-Y G a9 [ord |
Candidates must write their Roll Number on the
question paper.

YT FTI HT TR &4 7 g9 I8 GlAfoerd &% o [ q97-97 qof
7 & & qiter & JUNIT 30 T ] Fig o qr|ar @En
7T fawar ara|
Before answering the questions, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

AT (397 -

(i) T& 997-97 & @uel & farmifora & -
GUE - & : FHHHI @ TT AT [FaRen &7 %o
que - T : FEGHIFT aaiHT

(i) GRIETET ST 56T § FIE OF @UE G |

(iii) THT 997 &T F Bl IAB 997 & 3% IqP AHA
91T 77 8|

(iv) T97 G@T 1 & 6 7% qgawloqd 797 8| fomd agt
IR G ST FR-Gfeaer 7 forae 81

(v) 597 @13, 14 715 7 ST0R% ge 977 &/

3008/ (Set : B)
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General Instructions :

(9

(i)
(i)

()

(v)

This question paper is divided into two

Sections :

Section - A : Company  Accounts and
Financial Statement Analysis

Section — B : Computerised Accounting

Candidates have to select any one Section

of their choice.

All questions are to be attempted. Marks
for each question are indicated against it.

Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to select
one appropriate answer and uwrite the
same in their answer-book.

Internal choice is available in Question No.
13, 14 and 15.
gug - A
SECTION - A
(=t o T fai ot s frecor)

(Company Accounts and Financial Statement Analysis)

1. 99 FOYAT S GAS T3 TR & Gabd & (@0 HiE
feaT ST & a1 AT giafe g e 1
(A) UGS Grar Sfde, G hise
(B) HHRI @TaT efde, I @Al shise
(C) @y @rar e, fashar hise
(D) Sudad 7 #1E TeH
3008/ (Set : B) P.T.O.
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When debentures are issued for consideration of
purchase of asset, the journal entry will be :

(A) Debenture A/c Dr. To Asset
(B) Asset A/C Dr. To Debentures
(C) Asset A/c Dr. To Vendor

(D) None of the above

2. AU RGN BT & A W §Y ATH DI SRR (6T ST

g 1
(A) WTH-BIW @ & (B) fifdT wvs @ &
(C) YoirTa w= g (D) SUdd § ¥ il ¥ 78

Profit on cancellation of own debentures is
transferred to :

(A) Profit and Loss A/c (B) Sinking Fund A/c

(C) Capital Reserve (D) None of the above
3. ST ATH B HOAT & AMYS fg & e 99 &

ofieies & femmar o & - 1

(&) 3fer gair

(B) €=F T MYy

(C) dT TS T JraeT

(D) ToYe febelt 7 et

Unclaimed dividend is shown on the liabilities
side of the Balance Sheet under the head :

(A) Share Capital

(B) Reserve & Surplus

(C) Current liabilities & provisions
(D) None of the above

3008/ (Set : B)
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4, ﬁﬂﬁ%ﬁ?lﬁwmﬁﬁ%wﬁ%ﬁ%’%sﬁﬁw
Ty ¥ fewrs S ?
(A) T SR (B) @ty
(C) PiH T (D) Sudad B off 7

In the Balance Sheet of a company which of the
following item is shown under the head 'Fixed

Assets' ?

(A) Loose Tools (B) Goodwill

(C) Fictitious assets (D) None of the above
5. UTEhi ¥ agcil B g FATE Dl quiidhl HUT - 1

(A) fae foaret &

(B) faxias fopamati &

(C) URaTe fharel &

(D) Sudeq H fenell | i

Collections from customers are classified as
cash inflows from :

(A) Investing activities

(B) Financing activities

(C) Operating activities

(D) None of the above

6. RS Y & qed § If& S IR &rerr & 1
(A) dfeare (B) ST Y8
(C) @I5 Tk JaT8 el (D) S9gad H FIE TeH

Increase in the value of stock results in :

(A) Cash outflows (B) Cash inflows
(C) No cash flow (D) None of the above
3008/ (Set : B) P.T.O.
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7. UF9 foffes 5 10 T 9l 150 g o & 5 3 @iftey |
i fbw &, ofrefest Wi 8 2 9 ofwr (5 2 diffEw
Hied), g9 A= 2 € i ofyr a9 sifaw a3 2 9
i 7 e W =1 X foul 3 ¥ 100 Sfw 14 % 9fT

3T quierar g g it & R

Sfell & Sd wA qAr g T § geEiad smaeas
ST Hfafte S| 4

X Ltd. forfeited 150 shares of ¥ 10 each issued
at a premium of ¥ 5 per share for non-payment
of allotment money X 8 (including premium), ¥ 2
for first call and ¥ 3 for final call per share. Out
of these, 100 shares were reissued at I 14 per
share.

Pass the necessary journal entries for forfeiture
and re-issue of shares.

8. TIATH TSI &l M § ST F4T AT & 7 4

What do you mean by Minimum subscription ?

9. U% fufies &=l 3 1 oMW, 2008 & 94% & W I
10,00,000 ?%WGIT&%Q EEEARIEERIERIEIG
gﬁmw 2,00,000 % Ui a¥, § wied R fBar o
|

T8 A B b BT ROGHAT R & TS Ferdl B
Uﬁﬁ%ﬂﬁ%ﬁﬁwﬁ@m@ﬁw,?ﬁﬁ

PT FOUHT 9T HIdT Gl SEIEY 4

3008/ (Set : B)
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10. fo<ie faeRon & fasersor & qewdl W 99T STy | 4
Throw light on the importance of analysis of
financial statements.

11. W FAENS X & 99910 ST &7 a8 31 A7, 2012
& ATH 4,75,000 T o : 4

4
Ao W & 55,000
FOMH] T Ferdl ofafaiigd & 12,000
faferimr @t foest w afw 4,500
faframT o =T 9T g 6,500
Ly 31 A1, 31 14,
2011 2012
4 4
wlh 75,000 52,500
31 aa 6,250 5,250
I fa@ 8,250 5,750
SUgA el § qREer fhAnet 4 Ahs gdre @l A
P |
3008/ (Set : B) P.T.O.

(7) 3008/ (Set : B)

A Ltd. company issued debentures at 94% for
% 10,00,000 on 1st April, 2008 repayable by five
equal annual drawings of ¥ 2,00,000 each.

Prepare 'Discount on Debenture Account'
for five years, assuming that the company
decided to write off the debenture discount
during the life of the debentures.

Downloaded from cclchatper.com
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A Company had a profit of ¥ 4,75,000 for the
year ended on 31st March, 2012 after
considering the following :

4
Depreciation on Building 55,000
Discount on Debentures written off 12,000
Loss on sale of Investments 4,500
Interest received on Investment 6,500
Balance as on 31 March 31 March
2011 2012
4 4
Stock 75,000 52,500
Outstanding salary 6,250 5,250
Bills Payable 8,250 5,750

Calculate cash flow from operating activities
from the above information.

12. 9 § (&S Y478 (9O & Sedi &l ATET Sy | 4

Explain the objectives of cash flow statement in
brief.

13. U% &A1 A 10 T a1 10,000 39T J9AT BT AT % [T
IRT | Rorar Tidr 29 wer 3 o
(i) STdeT W 3 T i 3
(i) Off&ed X 2 T U 39T
(iii) T ATEAT O 3 T AT ST
(iv) SIT~H ITasT | 2 T i ofer

3008/ (Set : B)
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15000 39T & T SA1ae o1 &U
HaTdRl GRT MMEe 39 TSR [har 74T :
(i) 3000 SN & AR I B3 AT ol T
(ii) TRl TG SN AAIAS SATee febar |

qoft ara=T fafeaa @ 18 qur e @ srge /4t afer o
LRI
() Tred, e 9| 100 St & ST TEATS &1 daT

3fTEed & €19 § [T

(i) €ed, M@ 200 oiyr omEfed fhw @ o I
AT &l IR & ST T8 faa|

(iii) e, FrEd 100 97 e f6y 7T &, gadt gremT
&I A T & ||

SO oMeAl ¥ G A99EE qE BT 10

A company offers 10,000 shares of ¥ 10 each to
the public. The amount is payable as follows :

(i) On Application X 3 per share

(ii) On Allotment ¥ 2 per share

(iii) On 1st callX 3 per share

(iv) On Final call X 2 per share

Applications are received for 15,000 shares.

The directors make the allotment as follows :

(i) No allotment to applicants for 3,000 shares

(ii) Rest allotment made on pro-rata basis

3008/ (Set : B) P.T.O.
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All calls duly made and paid except :

(i) Mohan, a holder of 100 shares paid the two
calls with allotment.

(i) Sohan, a holder of 200 shares fails to pay
the 1st and 2nd calls money.

(iii) Rohan, a holder of 100 shares fails to pay
the 2nd call money.

Pass the necessary journal entries to record the
above transactions.

YA
OR
e @ e qraem=i & auie i ¢
(i)  STHTE Td A9l H AU e |
(i) ofel @ Herr R |
Explain briefly the provisions regarding the
following :

(i) Over-subscription and pro-rata allotment of
shares.

(ii)) Issue of shares at discount.

14. U% $T & 8,00,000 T 15% 09 1 81, 2011 &
ored 4, e 9es 31 51, 2012 & &1 91l 39 e
T U8 @1 AW 7,49,000 T o7 &1 {6 1,00,000 319+
RUGET & 99 T % 9T g § TET T47 6,60,000 T &
9% Wik ¥ fafartora o1l aiiv® e 28,400 T & |

31 A, 2012 & 98 T & W § Wik a9 a1 q«m
RO T G &R T 4|
A& I8 2011-12 F [T aeg® @ a9 2| 10

3008/ (Set : B)
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A company had ¥ 8,00,000, 15% debentures
outstanding as on 1st April 2011, redeemable on
31st March, 2012. On that date, the sinking
fund was ¥ 7,49,000 represented by ¥ 1,00,000
own debentures purchased at the average price
of T 99 and T 6,60,000 of 9% stock. The annual
installment was ¥ 28,400.

On 31st March, 2012, investments were realized
at T 98, and the debentures were redeemed.

You are required to write up the accounts for
year 2011-12.

rET

OR
O & Qes & [l Rt @ s el amen
P | 10

Describe the various methods for redemption of
debentures with the help of examples.

15. = faarelt & orEm i 10
(@) T a%g & @
(i) R i o srfvaw @i
(iif) =T FHTTET 8T X G, At
(a) T AEGH AT 6 YOI &

(b) offa" WA, URENS @dT § 6,000 2
T &

(c) T ATH STIUTT 25% TT fashd 80,000 2
(d) =T AR 32,000 % YT TR YA 0.8 &

3008/ (Set : B) P.T.O.
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From the following details, calculate :
(i) Cost of goods sold
(ii) Opening stock and closing stock
(iii) Current Assets and Quick Assets, if
(a) Stock turnover ratio is 6 times.
(b) Closing stock is ¥ 6,000 more than
opening stock
(c) Gross profit ratio is 25% and sales

% 80,000
(d) Current liabilities ¥ 32,000 and Quick
Ratio is 0.8.
ST
OR
(A) STIUTT % ¥ 78 & ? 5
What is the significance of ratio ?
(B) STUTT fasersr af Hwmd Far & ? 5
What are the limitations of ratio analysis ?
qug - q
SECTION - B

(Felga o)
(Computerized Accounting)
1. 'GUI' § i & 1
(A) RGBT ST HRIS
(B) W= IUAT XIS
(C) W@ A HRYS

(D) S | P T

3008/ (Set : B)
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'GUI' stands for :
(A) Graphical User Interface
(B) Graph User Interface
(C) Graph Universal Interface

(D) None of the above

2. P ¥ & S8 o S 1 oA BT Rowa 3 R R

ST & ? 1
(A) Ctrl+V (B) Ctrl+C

(C) Ctrl+2Z (D) SUgad H FI5 Tl
Which of the following key is used to paste
data ?

(A) Ctrl+V B) Ctrl+C

(C) Ctrl+2Z (D) None of the above

3. %Qﬁtﬁifraéﬂmm%mﬁ?—wﬁaqwaﬁw
e ST @ 7

(A) % B) *
(C) = D) /

To enter formula which of the following symbol
is used as first character in a spread sheet ?

(A) % (B) *
(€) = D)/
3008/ (Set : B) P.T.O.
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4. AT T oN-I7 I RF IR @ I I Tar s 7 1
(a) Fya (B)
(C) (D) SUgFT H BE T

Combination of Row and Column in a
spreadsheet form which of the following term ?

(A) Triangle (B) Circle
(C) Grid (D) None of the above
5. 1= § § H9-91 TF 3YC IUa 8 ? 1
(a) T (B) WX
(C) @IS (D) =% § FE T
Which one in the following is the input device ?
(A) Printer (B) Plotter
(C) Key Board (D) None of these
6. M= ¥ ¥ a9-91 d&® @ar Ug e W ed ami §
ST el & ? 1
(a) faemm (B) Hedmeo
(C) &R aRadH (D) SUFad ql

Which of the following technique is required for
both Accounts and financial transactions ?

(A) Amplification (B) Coaodification
(C) Modulation (D) All of the above

7. T TR QX SUNIET & AHHI I a1 (641 I & ? 4

On which Dbasis user's information is
categorized ?

3008/ (Set : B)
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8. SIeY ESITE o forg o qumell fohamearg= &g | 4
Implement a given database design for
accounting.

9. faf¥re wrET wuma STy fesme & foy aeer 3R &t 3R
HTEAT HITIT| 4
Describe and create voucher form in consonance
with different Accounting Database designs.

10. RUE TR & &f AfkAT & Iwod S| 4
Describe the process of creating Report.

11. YT ®EHH R fewnf fafeg| 4
Write a short note on Repayment schedule.

12. Y T B JOMeil § B &l ST6ld qHemsyl 4
Write a basic requirement for the wuse of
computer in any DB oriented Application.

13. 9 ROFET qumelt & @1 guerd € 7 ub erdt R
U  SHI-41 faQrad &t Aty ? 10
What do you understand by a Reporting
System ? Discuss the essentials of a good
Reporting system.

ST
OR
A 9%-U8 (Back-End) & [t meri & fT@r &
Tl BT 10
Explain various types of Database system at
Back-End.
3008/ (Set : B) P.T.O.
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14.

15.

(16) 3008/ (Set : B)

uH Q’H—Qﬁ'@'ﬁ (MS-Access) T E-@rar S99 S ishar
P U BT 10

Explain procedure for designing the ledger
accounts using MS-Access.

3Tt
OR
JYATE! I @l SQL i HUTTCrAl & U it | 10

Discuss the SQL methods for creating queries.

ITE &l WEE & TR JRAHT SR HH & B H A=K

WE S| 10

Differentiate between workbook and worksheet
in Excel with the help of suitable example.

3T
OR
EIE HAAN TT SQL FIAN & & =R WE HIT| 10

Differentiate between Domain Aggregate function
and SQL Aggregate function.

3008/ (Set : B)
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CLASS : 12th Sr. Sec. (Academic) Code No. 2908

Series : SS-M/2016
Roll No. SET : C

GECIFLEE

ACCOUNTANCY
[ Hindi and English Medium |
ACADEMIC
1st SEMESTER
(Only for Re-appear Candidates)
(Morning Session)

Time allowed : 2%z hours | [ Maximum Marks : 60

o FUIT 1T F 1% 5 §97-9 7 Fad T 16 T HHT 15 8|

Please make sure that the printed pages in this
question paper are 16 in number and it contains
15 questions.

o 97-UF F 3Ife7 &Y &1 R [T 77 FiE T/ 797 A B &7
T-GITal & JeT-9% T [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o FHUIT F97 FH T [T@T & FA T &, F97 & BHIE Fa9T
frg|

Before beginning to answer a question, its Serial

Number must be written.

2908/ (Set : C) P.T.O.
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o IT-§ftaar & &= 7 @il g1/q+ 7 8lg |

Don’t leave blank page/ pages in your answer-book.

o TH-JfdEl & ofaked #3 o= Sfe TE [l o
STHTEATIAR & ferd oI forar I 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o AT 19T T Fo FIT-GF YT 3G9 feid|

Candidates must write their Roll Number on the
question paper.

o I 9l F TR &4 & §d J€ G &% o & ge7-77 gof
7 7& & qitem & ST 39 T & FE 4t qar @Ew
7T fFaT AT |
Before answering the questions, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

AT (i) THT GIT &T FA &1 FAB F97 & 3% TGS AT
qIfg 77 &l

(i) T97 G@T 1 & 6 % gaFicdm F97 &/ I7FH U
AET I GAH 391 FR-Gikaaar 4 for@m 8l

(iii) F97 GEIT 13, 14 T 15 7 A<IRF G€ I &/

2908/ (Set : C)
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Note : (i) All questions are to be attempted.
Marks of each question are indicated
against it.

(ii) Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to
select one appropriate answer and write
the same in their answer book.

(iit) Internal choice is available in Question
Nos. 13, 14 and 15.

1. ST AT @l Sl o -ael &l e & 8, S 1
(37) AT ST TP & &
(@) Fae TS T & &
(@) 2T ST F g S & o
(3) Sud® F @ B8 T

Receipt and payment account records
transactions of :

(a) Revenue nature only
(b) Capital nature only
(c) Both revenue and capital nature

(d) None of the above

2908/ (Set : C) P.T.O.
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qiT : (=T [@aRr & 797 @@ 2 73 & & o0y & a9+
T
‘T, qIE’ qAT TS TS B § GEER & | GEEi 09 &
AR, 18’ TI1 S’ B I Y& A B HAT: 3% 9 5%
FHYT I FXA Hl STABR & S 396 HHIYH TN &
QT STTTAT| BH &1 ATH HHILH g § 98d 37,800 T
|

From the following particulars, select the correct
answers of Question Nos. 2 and 3 :

X’, Y’ and Z’ are partners in a firm. According
to partnership deed, Y’ and Z’ are entitled to get
commission of 3% and 5% respectively, on net
profit after charging such commissions. Net
profit of the firm was ¥ 37,800 before adjustment
of commission.

2. A T TS FH FHGA A AR HwA: B 1
(31) 1200; 1600
(@) 1050; 1750
(@) 1400; 1400
(@) v i & T
The amount of commission of Y’ and Z’ will be :
(@) 1200; 1600
(b) 1050; 1750
(c) 1400; 1400
(d) None of the above

2908/ (Set : C)
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3. Pl T S FAh FEHER B Gl 1 H § Fyerdy - 1
(31) 9 11,666.66; 12,716.66; 13,416.66
(¥) A 11,666.66; 13,416.66; 12,716.66
() 9% &l 3 12,600
(3) <ugea # & FE T

The total amount that each partner receive out
of total profit will be :

(@ 11,666.66; 12,716.66; 13,416.66 respectively
(b) 11,666.66; 13,416.66; 12,716.66 respectively
() ¥ 12,600 each
(d) None of the above

4. wicih T §9A A B 3 : 2 AU § died gL TH B A
ATEeR 2| S e a T & HA: 1/5 T 1/6 Arai §
fee & fou aEerr § qnfia fan| Seer s are-gr
STGHT &1 - 1
(31) 57:38:30:25
() 38:57:30:25

(d) 38:57:25:30

7) Suded § § #E T

2908/ (Set : C) P.T.O.

Downloaded from cclchatper.com



(6) 2908/ (Set : C)

Malik and Bansal are partners in a firm, sharing
profits and losses in the ratio of 3 : 2. They
admit Singh and Gupta as new partners for
1/5th and 1/6th shares in profits respectively.
Their new profit sharing ratio will be :

(@) S57:38:30:25
(b) 38:57:30:25
(¢ 38:57:25:30
(d) None of the above

e : [A=rfarfege fAavor & SITeR 9T 997 G@IT 5 76 &7 @&l Fav
gy -
OF T T F AT BH & qHOAT & o R v %
e 9

deR  1,35,000 %; §% | 60,000 3; G
‘7 45,000 %, T T 55,000 T, BH Bl
¥ 3,25,000 % a9 &Y/

From the following particulars, select the correct
answers of Question Nos. 5 and 6 :

‘A’ and ‘B’ have decided to dissolve their firm.
The liabilities of the firm were :

Creditor ¥ 1,35,000; Bank loan ¥ 60,000 and
Capitals : ‘A’ ¥ 45,000 and ‘B’ ¥ 55,000. The
assets of the firm were realised for % 3,25,000.

2908/ (Set : C)
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5. TH & gl & J&H qoF 41 : 1
(31) 2 3,00,000 (@) %2,90,000
(@) z3,25,000 (3) Sl § § FiE T
The book value of the firm's assets was :
(a) ¥ 3,00,000 (b) ¥ 2,90,000
() ¥ 3,25,000 (d) None of the above

6. TH WEHER & Il G HI ara/ee § Rwm e 1
(3) % 10,000 @TH (@) * 12,000 @
(@) 25,000 &1 (3) SudeEd ¥ § FiE T

The share of each partner in profit/loss on
Realization Account will be :

(@) % 10,000 profit (b) ¥ 12,000 profit
() ¥ 5,000 loss (d) None of the above

7. T P WA P, AAHRR G&T & AF-FF @Td qoT
qa-o ¥ fober g@R feman omar & ? v | 4

How is donation treated in Income and
Expenditure account and Balance Sheet of a
Not-for-profit organization ? Explain.

2908/ (Set : C) P.T.O.
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8. Wey 4 RAyr ao-gi« & F9oH 3 : 2 AU H & &Y
TR &l 01 SMall, 2006 & SOt B F THT B 1/6
(B ATT) 1 AAIER S &1 I/ &H § &H 25,000 T @19
I TR T &1 T AT A gdad & W 81 Wy b
N TR & @A & FHT A T IY HAT: 2 1 3 6 AU
I8 ®U1| 31 =R, 2006 & B & @9 1,20,000 I
oT| ST AT-81 faT=NT & o S| 4

Mahesh and Dinesh are partners sharing profits

and losses in the ratio of 3 : 2. They agreed to
admit Rakesh for 1/6th share in profits as a
partner with a minimum guarantee of ¥ 25,000
profit per year. Any deficiency arising out on
that account shall be met by Mahesh and
Dinesh in the ratio of 2 : 3. The profit of the firm
at the end of year was ¥ 1,20,000. Prepare Profit
and Loss Appropriation Account.

9. FEEN W@ & HWE H AN BN A EEl & aue
F| 4

Explain the provisions which are applicable in
the absence of partnership deed.

10. FH § WERR & Jarivgh & 97 § SA1iq & gt oy
A aT i JIER &1 aU dHIg| 4

Mention the accounting treatment of goodwill at

the time of retirement of a partner from the firm.

2908/ (Set : C)
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11. §Zad Siad &7 oifed! | U U Siftem 9 gefed
%PW%W%@IWW,W@(%WW gal ql
ST ® 7 4

What is the accounting treatment of premium on
Joint Life Policy, when it is treated as capital
expenditure ?

12. B9 & THUS R G THiat 9 §Te 9efdRi & aidal o
YA Gd H BEARG B & 9%, T o-aHl @
A= gfafear sHif 4

(i) 25,000 T % B AARES @1 T |
(i) 32,000 T % AR HIHER TH 6% JoF T o ferd|
(iii) 3,000 ¥ & R-APNARGT RIS BT ST |

(iv) @Gl @4 T 36,000 T & 19 FERRT Terq 0
s & 11 : 7 ¥ o & 8|

What journal entries would be passed for the
following transactions on the dissolution of a
firm, after various assets (other than cash) and
third parties liabilities have been transferred to
Realization Account ?

(i) Bank overdraft of ¥ 25,000 has been paid.

(iij Debtors of ¥ 32,000 were taken over by
partner X at 6%.

(iii) Unrecorded liability of ¥ 3,000 was paid.

2908/ (Set : C) P.T.O.
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(iv) Profit on Realization ¥ 36,000 was to be
distributed between X and Y in the ratio of
11:7.

13. (a) UH W F09 & FO Tal § G4 oA = 2|
5 WA &I a9 & AE-HT @A a9l A0 b

9B 5
faervor T &

ga M 01 ST 2005 H 35,000

aa e fafemr 35,000

gq Wiy | &= 4,000

g MY & o o™ 15,000

Yo AR 10,000

The following information are given of a
sports club. How are these items shown in
Income and Expenditure account and
Balance Sheet of the sports club ?

Particulars Amount

¢
Sports Fund on 01-04-2005 35,000
Sports Fund Investment 35,000
Interest on Sports Fund Investment 4,000
Donation for Sports Fund 15,000
Sports Prize 10,000

2908/ (Set : C)
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(b) A I GRT 31 fGERR, 2006 & TH@ 99 &
AR I HRE T E

v
2005 3,000
2006 93,000
2007 2,000
98,000

FIG H 500 9 &, G0 9 200 T H W G
it T & AW &l &l 31 R’F=R, 2005 &
YT F=T 6000 2 & 31 feH=R, 2006 & Fo<
I & MF-FF @A 997 39 [0 & Jo-o °
g Alhel Bl MU 5

Subscription received during the year 31st
Dec., 2006 by the Royal Club was as follows :

<
2005 3,000
2006 93,000
2007 2,000
98,000

There are 500 members of the club and each
contributes ¥ 200 per year. Outstanding
subscription on 31st Dec., 2005 was X
6,000. Show the above particulars in Income
& Expenditure Account and Balance Sheet
of club for the year ended on 3lst
Dec., 2006.

2908/ (Set : C) P.T.O.
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(b)
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STYET

OR
“miftq Td A @, Ake T8 B AR &7 FAT
& W HIT| 5

"Receipt and payment account is the
summary of Cash Book." Clarify the
statement.

T - @M &l g 9oy fafeg| 5

Discuss the main characteristics of Income
and Expenditure account.

SIS o Sl ATH & 2 @ 1 & AU H died §Y RN
g = e & 174 9T $ fAU @R a9l 98
30,000 % Sl & T4 12,000 % TAT & The el STl
2| TSI & Sell Hl JI-051 59 Y o :

HIP A afer 7 |aRawfaar | afr &

TR 8,000 S o

2 o 4,000| BT TS | 12,000

=T G99 6,000 |fafaT TER 8,000

gl - wlh 10,000

S{TdTe — 50,000 SR 30,000

gaat — 32,000
82,000|9aw 40,000
1,00,000 1,00,000

2908/ (Set : C)
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(i) o & H 45,000 T AR A & T 25,000 2
gl

(i) E™ = & [T 5% & R ¥ IGRT T I
cEiy

B & JEH § IUGh GHENHI § GEEd AEETS
ST Ffafeed] Sy 91 Jod-a=1 9 amEy| 10

Azad and Babli are partners in a firm sharing
profits & losses in the ratio of 2 : 1. They agreed
to admit Chintan as a partner for 1/4th shares in
profits for which he brings ¥ 30,000 as capital
and ¥ 12,000 for premium for goodwill in cash.
The Balance Sheet of Azad and Babli was as

under :
Liabilities Amount Assets Amount
4 4
Creditors 8,000|Cash in Hand
Bills Payable 4,000 & at Bank | 12,000

General Reserve 6,000|Sundry Debtors 8,000

Capitals : Stock 10,000
Azad SRR Machinery 30,000
Babli - 32,000

82,000 Buildings 40,000
1,00,000 1,00,000
2008/ (Set : C) P.T.0.
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The following conditions are agreed :
(i) Building was valued at 45,000 ¥ and that of
machinery was at ¥ 25,000.
(i) Make a provision for doubtful debts on
debtors @ 5%.
Pass the necessary journal entries for the above
adjustment in the books of the firm and also
prepare Balance Sheet.
SRR
OR
JTcI iR & 99T BH i TREH el U & e ged
R EH B JEIH T RET Aq € ? SANS gOT-07 b
SERRIIEE 10
After revaluation, the assets and liabilities are
shown at what values in the books of the firm ?
Explain by taking imaginary figures (Balance
Sheet).

S TG AT BN 3 ;2 F dled gU UH 9 § qEIR
gl 01 Sadl, 2014 I IHT Jo-9o1 =T G o -

AR i ¢ |qRwmfaar | afir ¢
ol - ENIEH] 19,500
‘o7’ = 20,000 [&ED 16,000
T - _15,000| 35,000[ITER 15,000
SER] 15,000 ST g 6,000
AER 7,500 [T kg 1,000
57,500 57,500

2908/ (Set : C)
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T A Iy § qArgS & & g foan qur e

ESLRIERERIR I

(i) Tl & gEidT 15,000 ¥ foar w4

(i) TN W 7%% T €6 B 15% BT BT 8|

(iif) STERT TR T RIT 5% H T &R W GE & [T
2% ¥ HTFET T 2

B & J&hl § Iugdd § e Al gl

Hig| 10

‘A’ and ‘B’ are partners in a business sharing

profits and losses as ‘A’ 3/5th and ‘B’ 2/5th,

Their Balance Sheet as on 1st January, 2014 is

given below :

Liabilities | Amount Assets Amount
7 7

Capital : Machinery 19,500

A’= 20,000 Stock 16,000
‘B’- 15,000

35,000 |Debtors 15,000

Reserve 15,000|Cash at Bank 6,000

Creditors 7,500|Cash in Hand 1,000

57,500 57,500

‘B’ decided to retire from the business and
following revaluations are made :

(i) Goodwill of the firm is valued at ¥ 15,000.

(iij Depreciate Machinery by 7%2% and stock by
15%.

2908/ (Set : C) P.T.O.
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(iiij A bad debts provision is raised against
debtors at 5% and a discount reserve

against creditors at 2%2%.

Journalize the above transactions in the books
of the firm.

SRRl
OR
gi&-oTguTd &7 & ? IEE & gerddl § wHesl gia
STYITT T AT AU &b = bl H WE Bl 10

What is gaining ratio ? Define it with the help of
suitable example. Also distinguish between
sacrifice ratio and gaining ratio.

2908/ (Set : C)
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CLASS : 12th Sr. Sec. (Academic) Code No. 3008
Series : SS-M/2016
Roll No. SET : C

SECIFLEE

ACCOUNTANCY
[ Hindi and English Medium |
ACADEMIC
2nd SEMESTER
(Only for Fresh/Re-appear Candidates)
Evening Session

Time allowed : 2%z hours | [ Maximum Marks : 60

o YT T I o & 7 J97-7 7 PRI 7T 16 TIT T
30(15+15) &/
Please make sure that the printed pages in this

question paper are 16 in number and it contains
30(15+15) questions.

o T97-UF F 3IfeT &Y &1 SR [T TF FiE T%=w 797 A H &7
T-GITal & JET-9% 7 [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o U F97 FH T [T@T & A G G&et, F97 F BHIE a9
ferg|
Before beginning to answer a question, its Serial
Number must be written.

3008/ (Set : C) P.T.O.
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o FR-YikTel & dia 7 @rell G1/9+ 7 BIg]

Don’t leave blank page/ pages in your answer-book.
o TW-JRaH & Sfaked FE FF dic TE Al I
STaRIFATAR &1 fer off for@r Gov 7 #E
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o G OIgT AT o F9T-Y G a9 [ord |
Candidates must write their Roll Number on the
question paper.

YT FTI HT TR &4 7 g9 I8 GlAfoerd &% o [ q97-97 qof
7 & & qiter & JUNIT 30 T ] Fig o qr|ar @En
7T fawar ara|
Before answering the questions, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

AT (397 -

(i) T& 997-97 & @uel & farmifora & -
GUE - & : FHHHI @ TT AT [FaRen &7 %o
que - T : FEGHIFT aaiHT

(i) GRIETET ST 56T § FIE OF @UE G |

(iii) THT 997 &T F Bl IAB 997 & 3% IqP AHA
91T 77 8|

(iv) T97 G@T 1 & 6 7% qgawloqd 797 8| fomd agt
IR G ST FR-Gfeaer 7 forae 81

(v) 597 @13, 14 715 7 ST0R% ge 977 &/

3008/ (Set : C)
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General Instructions :

(i) This question paper is divided into two
Sections :

Section - A : Company  Accounts and
Financial Statement Analysis
Section - B: Computerised Accounting

(i) Candidates have to select any one Section
of their choice.

(iii) All questions are to be attempted. Marks
for each question are indicated against it.

(iv) Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to select
one appropriate answer and uwrite the
same in their answer-book.

(v) Internal choice is available in Question No.
13, 14 and 15.

gug - A
SECTION - A
(=it @@ quT feria feroTt @ faeso)

(Company Accounts and Financial Statement Analysis)

SO e BT & I 31w 87 ¥ SR [T A1 s ¢ 1

1.

(A) TIH-BIN @1 | (B) €M Hag @rd
() Yot g9 @ | (D) Sugad foelt & &
The closing balance of 'Debenture Redemption
Fund' account is transferred to :
(A) Profit and Loss A/c (B) General Reserve
(C) Capital Reserve (D) None of the above

3008/ (Set : C) P.T.O.
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2. S RO a1 A e At & &9 7 b o g, a‘r

HT B J&h § Hfafee gl

(A) % FOT @A S, FOTS @A shiee

(B) RUTAH ETAT ST, RO G- @Al shise

(C) OIS T WA 39T, §% K0T @Al shiee

(D) T A P T

When debentures are issued as collateral

security against a bank loan, the journal entry

in the books of the company will be :

(A) Bank Loan A/c Dr To Debenture A/c

(B) Debenture A/c Dr To Debenture Suspense
A/c

(C) Debenture Suspense A/c Dr To Bank Loan
A/c

(D) None of the above

3. FT & Rafq faerer § ooy w3l § & foow 72 1 ‘o7 R-

TTef Ty ST o Swial e S ? 1
(A)  Id gHrEr

I FeferEr
(C) e B ATIRS AT

IqgEd § & FE AL

In the Balance Sheet of a company which item is
shown under the head 'Other Non-current
Assets' ?

(A) Tangible Assets

(B) Intangible Assets

(C) Long-term Trade Receivable
(D) None of the above

3008/ (Set : C)
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4. F % Rafy fawor & ‘gfayfa fifew &1 f&w dds &

St e S ? 1
(A) T UF e

(B) = A

(©) Rarg afE

(D) Suded 7§ fft H e

In the Balance Sheet of a company 'Securities
Premium' is shown under the head :

(A) Reserve and Surplus

(B) Current Liabilities

(C) Non-current Liabilities

(D) None of the above

5. 1 gufdl & fashl § 2 arar Aehs HaT8 &N 1
(A) faee foaret & (B) foxira feharsti &
(C) uRare famel | (D) Sudad & fomelt & T2t
Cash flows resulting from sale of fixed assets are
classified as cash flows from :

(A) Investing activities (B) Financing activities

(C) Operating activities (D) None of the above

6. URIATA fohamet & s HaT8 &l 0T axd 999 M= § 9
foa mg @1 i et faam arar & 7 1

(A) THN §99 § &=
(B) ik H FHH

(C) TS & YA

(D) 9 &

3008/ (Set : C) P.T.O.
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In calculating cash flows from operating
activities, which item is not included ?

(A) Transfer to General Reserve

(B) Decrease in Stock

(C) Dividend Paid

(D) All of the above

7. 9% [WHEE 7 10 T 910 300 S o © 7 T g sigr

YA T &, YT AT S AR 2 T Gi ST G T
o TR I & | 570 § 125 39 6 T G ST B WA

g?:ﬁl”fﬁl?faﬂﬁ"ﬂ
P B JEDI § HA H AT B g G W &
It wiaredl S| 4

Y Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7
called up, for non-payment of first call money of
¥ 2 per share. Out of these 125 shares were
immediately reissued at X 6 per share.

Pass journal entries for forfeiture and
reissue of shares in the books of Y Ltd.

8. JAIEHN QT T FHAT Sfel H TR T &I 4
Differentiate between preference shares and
equity shares.

9. [= Tgmatl # aTagas® yfafedr Hivg 4
(A) U® ®FE 9 2000, 10% FOGH AT 6 TdH
100 % &1 &, T 5% ®ert R &, e e
2% Hiftrd X & B
(B) U& &I I 2000, 10% FUG &I, 1 fb qd®
1003 @ &, s 2% diftmw w &, fomer
T 10% NHET W) B 8|

3008/ (Set : C)
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(A) A company issued 2000, 10% debentures of
¥ 100 each at a discount of 5% and
redeemable at 2% premium.

(B) A company issued 2000, 10% debentures of
% 100 each at a premium of 2%, redeemable
at a premium of 10%.

10. fa<it faeReli & Sugm &l @ Hifg| 4

Write the uses of Financial Statements.

11. UH &A1 & 31 96, 2012 & MHECREd & GHEe

oA & §18 19 17,50,000 X 91 : 4

4
HI9T W B 1,30,000
@i Sraferid &l T8 25,000
wftll d= 9 B 9,000
ERERIRE IS KIS 18,000
Ly 31 14, 31 A74,
2011 2012
4 4

i 70,000 87,000

ahg 60,000 75,000

ECARICKE 7,000 4,000

Suged § qREe Al § g FaTe &l T0HT &I

3008/ (Set : C) P.T.O.
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Give journal entries :
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A Company had a profit of ¥ 17,50,000 for the
year ended 31st March, 2012 after considering
the following :

4

Depreciation on Building 1,30,000

Goodwill written off 25,000

Loss on sale of Machinery 9,000

Interest received on Investment 18,000
Balance as on 31 March 31 March

2011 2012

¢ 4

Stock 70,000 87,000
Cash 60,000 75,000
Outstanding salary 7,000 4,000

Calculate cash flow from operating activities
from the above information.

12. UHS YaTe [daror & STl &7 auie S| 4

Mention the limitations of Cash Flow statement.
13. Th HAA! 9 30,000 T (10 T Hfer) & i fosam 3 2
JMEET W, 5 T TG | q97 2 % &1 W 37 9|

93,200 39 &Y ATIE < §Y TAT ART HATGEA & HR
ST 39 ThR HAT e

21,000 3TdEH ® Had 10,200 H et
50,600 3TTAEH A Had 12,600 A T

21,600 3TEEH & 7,200 ST At

3008/ (Set : C)
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gTed (T T Aded R T & d18 e g = §
FHIS q9aTq 9 wier f&ar T ofeed 7 /e | 3

SEIRUREESETSSIRE
SN & M ¥ gWiud oMEedd AT yidfedr
It 10

A company made an issue of 30,000 shares of
¥ 10 each payable ¥ 3 on application, ¥ 5 on
allotment and X 2 on call.

93,200 shares were applied for and owing to this
heavy over-subscription allotment were made as
follows :

Applicants for 21,000 received 10,200 shares
Applicants for 50,600 received 12,600 shares
Applicants for 21,600 received 7,200 shares
Cash then received, after amount due on
application was applied towards allotment and
call money and balance returned. All money due
on allotment and call were realized.

Pass the journal entries relating to this issue of
shares.

AT

OR
(A) SHET AT TET AR AT (S W) § FEid
JIIETl &1 aU ST qT S99 qEeed AoTraE
yiafear |t fafa| 5
Mention the provisions and also give

journal entries relating to Calls-in-Arrear
and Calls-in-Advance.

3008/ (Set : C) P.T.O.
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(B) SfSl @ werdt R A & geafvaa ar gag § ?
farfe| 5

What are the provisions regarding issue of
shares at discount ?

14. U% &1 & AfEd 9ol 10 % 919 4,00,000 9 H
fasad 8 g78 @ 1,20,000 9 qUieT gebar FRifae fag
gU &l
31 A/, 2013 & =1 A9 & :
12,00,000 T & 14% 09T foH&T T 2% THIH |

FT &

4
e EEIPE R CRCIT) 10,00,000
FUTAS S HUs A= @rar 10,00,000
CIRI 9,00,000

gar@® 7 1 S| 2013 @ FUCH & €T F AU
T | sror=renRAT @ fawer faar mar fo 9 @ ar and afar
THS of Thd & AT O qR AT e (qefam gaar); 100 2
& ROTTS & qel 8 JUITHAT g ST

75% SROTGTRG] T WA A W &7 e AT T4 1t
RUTSHTRAT o Febg § A o &l fdebed 1| fafagi &
oIR8 X SEa TS e JET 4T T4T SROTETRAT &l
A & |

TRFA A-al § TG HEA B D H ATIED
ST Hfafedr s | 10
The authorised capital of a company consists of
4,00,000 equity shares of ¥ 10 each. Out of
these 1,20,000 shares have been issued as fully
paid up.

3008/ (Set : C)
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Balances on 31st March, 2013 :
14% Debentures of ¥ 12,00,000 redeemable
at 2%.
4

Debenture Redemption Reserve A/c 10,00,000
Debenture Redemption Fund

Investment 10,00,000
Market value 9,00,000
The directors resolved to redeem the Debentures
on 1st April 2013 and the holders are given an
option to receive payment either wholly in cash
or wholly in fully paid up equity shares @ 8
shares for every ¥ 100 of debentures.
75% of holders decided to exercise the option for
taking shares in repayment and rest for the cash
is procured by realizing an adequate amount of
investment at the prevailing market value.
Draw up the journal entries (including Cash
Book Entries) to give effect to the above
transactions.

ST
OR

AT HIT : 10
(i) RO &1 GOl & Qe o
(i) OGS B ATH F H UET H G A@e q

ST 9Tt Sfdfed) & quie g

Discuss :

(i) Redemption of debentures out of capital
and

(ii) Redemption of debentures out of profits.

3008/ (Set : C) P.T.O.
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15. {5 GEATeT & O I 10
(i) o T A S AN
(i) URFS T AW ©id
(i) =Tef FeferT qYT X g, afe
(a) I A& AT 5 oM &
(b) SAfaw Tefaar, gRFEE® @hET § 10,000
ST &
(c) Tt 6,00,000 2
(d) T AT AFUT 25%
(e) T AR 40,000 %
(f) TR I 0.75

From the following information, calculate :

(i) Cost of goods sold

(ii) Opening stock and closing stock

(iii) Current Assets and Quick Assets, if
(@) Stock turnover ratio is S times.

(b) Closing stock is ¥ 10,000 more than
the opening stock

() Sales? 6,00,000

(d) Gross profit ratio is 25%

() Current Liabilities ¥ 40,000

(f) Quick Ratio is 0.75

e

OR
ST faswwor & F@T oMed & 7 gEa &Sl # aue
FHiorg| 10

What do you mean by ratio analysis ? Explain
its limitations.

3008/ (Set : C)
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qug - g
SECTION-B
(FEtrga aei)
(Computerized Accounting)
1. 'PIN' & 3170 & : 1
INEEEEIREEIR IS
(B) U qeeT THiX
(C) 3THal UBd TR
(D) I9g | 5 TA
'PIN' stands for :
(A) Personal Identification Number

(B) Private Identification Number
(C) Pure Identification Number
(D) None of the above

2. 9 § ¥ 6@ ‘O’ & T SUNE G ATM § BT
TFHE F & o foa S @ 7 1
(A) e &®
(B) it wea 3fd
(C) Shafda
(D) ST BEER
Which of the following term is required to access
data for customer through ATM ?

(A) Security Number

(B) Personal Identification Number
(C) Biometric

(D) Digital Signature

3008/ (Set : C) P.T.O.
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3. = ¥ § F9-91 UF ey enlRa waw fFar amr g ? 1
(A) HEEH b
(B) P gfema
(C) T (A) T (B)
(D) 3TH & 1 Tef

Which one of the following is database oriented
Application ?

(A) Computerised Accounting
(B) Artificial Intelligence
(C) Both (A) and (B)
(D) None of these

4. GredfiT § g 3H & & [OY SE-41 e qom e
ST & 7 1
(A) = (B) * < / (D) %
To enter formula which of the following symbol
is used as first character in a spreadsheet ?

(A) = (B) * € / (D) %

5. P & & @6 @ S0 & e e Rrar & R R
ST & 2 1
(A) Ctrl+C B) Ctrl+Z
(C) Ctrl+V (D) SudEd 7 § FE Tel
Which one in the following key is used to paste
data ?
(A) Ctrl+C B) Ctrl+2Z
(C) Ctrl+V (D) None of the above

3008/ (Set : C)
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6. M= & & 3i=-d wlkar ‘@rar qur onffe d9-39 #

10.

11.

12.

13.

SRS &l ATy & 7 1
(A) X gRad (B) fawmor
(C) wieamatu (D) Sudad

Which of the following technique is required for
both 'Accounts' and financial transaction ?

(A) Modulation (B) Amplification

(C) Codification (D) All of the above

FG A Bl AAEHAT H I Bl | 4

Describe the need of computerized accounting.

. 3T 1Y JUITelt o i R Fazu| 4

Explain different types of data processing
system.

. STEH T & [oTT T (Access) & oM9R [Wawl 4

Explain Access basis for creating Database.

ST U bl SeIH (3918 § Teda ad S| 4

Correlate the system of vouchers to Database
design.

UFd § J9Taa! a9 & SuR foag| 4
What are the basics of creating queries in Access ?
RIEGEERE G RE R R R G R e B L R 4

Differentiate between Mixed Cell Reference and
Circular reference.

3T 9%-Ug (Back-End) & A= J&RI & qu S| 10

Explain various types of databases at Back-End.

3008/ (Set : C) P.T.O.
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3T

OR
RAfET gomelt & oy @1 wwEm € 7 s ordr Raifdw
T ar fasrerard ferfea| 10

What do you mean by a Reporting System ?
Explain the essentials of a good reporting

system.
14. TH TH-UFH (MS-Access) ¥ F&I-GMAT & &I HishdT
&1 g qui BT | 10

Explain procedures for designing the Ledger
Accounts using MS-Access.
STYET
OR
TFIH (Access) BT TANT &b Th RUIC T30 | 10

Design a Report using Access.

15. ST HOART FiRAT 3R SQL FHerdRT Hisham H SRR
HIT| 10
Differentiate between Domain Aggregate function
and SQL Aggregate function.

SRR

OR
TFW (Excel) ¥ JHMC a9 & STUR T WishaATal @l
g vt &Rl 10
Explain Excel basis and procedures to create

worksheet.

3008/ (Set : C)
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